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3ajaHue

Cxonmposath B PII3Y ko nepoii j1abopaTopHOii pabOTHI.

Ncxonnbiilt Koo

org $c000
a equ 1
b equ 3

equ 4
regbas equ $1000
tent equ $0e
tocl equ $16
tflgl equ $23

ldab #%00000110 * erase
stab $103b

ldx #$b600

stab 0, x

1ldab #7,00000111

stab $103b

jsr dly10
clr $103b
ldy #$c073
sty count
ldx #$b600
stx addri
11 ldy count
lda #%00010010 *write byte
sta $103b
ldx addri
1ldy count
ldaa 0, y
sta 0, x
lda #%,00010011
sta $103b
jsr dly10
clr $103b

ldy count



iny

sty count
1dx addril
inx

stx addril
cmpy #$c096
blo 11

rts

clra * lab 1
clrb * y=((a-b)*c)/(atc)+(b-c)
xgdx

clra

clrb

1ldab #a
addb #c
xgdx

1ldab #a
subb #b
ldaa #c
mul

idiv

1ldab #c
ldaa #b
sba

tab

clra

std ddd
xgdx

addd ddd

rts
ddd dw
initdelay 1dx  #regbas

ldaa #$80
staa tflgl, x

rts
dlyl0  jsr initdelay
1ldd tent, x
addd #20000
std tocl, x
1p1 brclr tflgl, x $80 1pi
rts

count dw
addri dw
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